	Cis 350, 2003   QUIZ #1

NAME:


(2 points)

Imagine a gray level image, given by a 2D matrix. If the max. possible range of gray-values is given between 0(black)..255(white), how would the following image appear on the screen:
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· Dark with a single bright spot
· Medium

· Bright with a single dark spot

(3 points)

Which of the following functions transforms the image f (given above) to the max. range of gray-values (0..255) ?

· T(f) = 200*f - 1

· T(f) = (f-1) / 199 * 255
· T(f) = (f-1) / 200 * 255

· T(f) = f/200

(2 points)

Assuming that the pixel with value 200 is noise, what would be achieved by the linear transformation above ?

· not too much, since the information in the image will still be dark

· nothing, the image didn't change

· it's perfect, since it's easy

· i don't care, since  a matrix of size 3x5 doesn’t contain  information anyway

(3 points)

How does the histogram of the following image look like ?
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